
Pomiar obwodu Ziemi metodą Eratostenesa (230 p.n.e) 
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                                                                                               γ = α – β 

                                                                                               Z / obwód = γ / 360 

                                                                                               Obwód = Z * (360 / γ ) 

Legionowo 

Długość cienia                  …………………………………. 

Wysokość gnomonu        ………………………………… 

Godzina pomiaru             …………………………………  

 

Rzym 

Długość cienia                  …………………………………   

Wysokość gnomonu       ………………………………… 

Godzina pomiaru            ………………………………… 

 

Odległość         ……………………………….. km 


